

			Vendor Ranking		Р	age 1 of 1
Letting:	04240405	April 05, 2024 10:30 AM	Call Order: 005	Contract:	E4X49-R0	
District:	District 4		Counties: PALM BEACH	Fed Aid No	<b>b:</b> N/A	
Contract Time:	365 CALEN	DAR DAYS		Project(s):	44443327201 (*)	
Contract Desc:		CH COUNTY PAVEMENT MA	RKINGS - ROUTINE MAINTENANCE			

Contract Desc: PALM BEACH COUNTY PAVEMENT MARKINGS - ROUTINE MAINTENANCE

	Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1		OGLESBY CONSTRUCTION, INC.	Responsive	Winning bid	\$499,780.00	100.00%
2	2	DAVID'S ASPHALT INC.	Non Responsive	Non-Winning Bid	\$550,804.97	110.21%
3	3	TRP CONSTRUCTION GROUP, LLC	Responsive	Non-Winning Bid	\$638,406.00	127.74%
4	ŀ	AKCA, LLC	Responsive	Non-Winning Bid	\$659,578.00	131.97%
5	5	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$981,221.00	196.33%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	04/30/24	BEGIN TIME:	10:30 AM
	END DATE:	05/01/24	END TIME:	10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 500,000.00 and not the contractor's bid total.



Page 1 of 12

Letting:	04240405 April 05, 2024	Call Order:	005	Contract: E4X49-R0
District:	District 4	Counties:	PALM BEACH	Fed Aid No: N/A
Contract Time:	365 CALENDAR DAYS			Project(s): 44443327201 (*)

### Contract Descr: PALM BEACH COUNTY PAVEMENT MARKINGS - ROUTINE MAINTENANCE

The work under this Contract consists of installing, removing, and replacing Thermoplastic pavement markings and Raised Retro Reflective pavement markers at various locations on primary roads in Palm Beach County.

ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Departments advertised estimate amount of \$500,000.00 and not the contractors bid total.

PERFORMANCE BOND: A Contract Performance bond is required for this project.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Alternate Item Description	Quantity Units			(2) DAVID'S A	SPHALT INC.	(3) TRP CONSTRUCTION GROUP, LLC	
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (F	PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0005 0711 11102 THERMOPLASTIC, STANDARD, WHIT SOLID, 8" FOR INTERCHANGE AND URBAN ISLAND	1.000 E, GM	8,500.00000	8,500.00	6,736.00000	6,736.00	6,000.00000	6,000.00
0010 0711 11123 THERMOPLASTIC, STANDARD, WHIT SOLID, 12" FOR CROSSWALK AND ROUNDABOUT	10,000.000 E, LF	3.00000	30,000.00	3.00000	30,000.00	3.00000	30,000.00
0015 0711 11124 THERMOPLASTIC, STANDARD, WHIT SOLID, 18" FOR DIAGONALS AND CHEVRONS	201.000 E, LF	4.00000	804.00	4.80000	964.80	6.00000	1,206.00
0020 0711 11125 THERMOPLASTIC, STANDARD, WHIT SOLID, 24" FOR STOP LINE AND CROSSWALK	2,746.000 E, LF	6.00000	16,476.00	6.23000	17,107.58	10.00000	27,460.00



Page 2 of 12

Letting:	04240405	April 05, 2024	Ca	l Order: 005		Contract:	E4X49-R0	
Line No / I Item Desc		e Quantity Units	(1) OGL CONSTRUC		(2) DAVID'S A	SPHALT INC.	(3) TRP CON GROU	ISTRUCTION P, LLC
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
	l 11160 STIC, STANDARD, WH R SYMBOL	60.000 HITE, EA	100.00000	6,000.00	169.87000	10,192.20	150.00000	9,000.00
	I 11170 STIC, STANDARD, WH	100.000 HITE, EA	75.00000	7,500.00	119.41000	11,941.00	95.00000	9,500.00
	I 12101 STIC, REFURBISHME D, 6"	30.000 NT, GM	3,400.00000	102,000.00	1,997.41000	59,922.30	2,650.00000	79,500.00
THERMOPLA	I 12121 STIC, REFURBISHME D, 6" FOR MAINTENAN		0.40000	26,000.00	0.79000	51,350.00	0.50000	32,500.00
THERMOPLA	I 12122 STIC, REFURBISHME D, 8" FOR MAINTENAN		10.00000	50.00	90.00000	450.00	4,500.00000	22,500.00
THERMOPLA WHITE, SOLII	I 12123 STIC, REFURBISHME D, 12" FOR CROSS W/ BOUT- MAINTENANCE	ALK	3.00000	7,500.00	4.70900	11,772.50	2.50000	6,250.00
THERMOPLA WHITE, SOLII	I 12124 STIC, REFURBISHME D, 18" FOR DIAGONAL IAINTENANCE USE OI	OR	4.00000	800.00	16.02000	3,204.00	4.75000	950.00



Page 3 of 12

Letting:	04240405 Ap	oril 05, 2024	Cal	l Order: 005		Contract:	E4X49-R0	
Line No / It Item Desci		Quantity Units	(1) OGL CONSTRUC		(2) DAVID'S A	SPHALT INC.		ISTRUCTION P, LLC
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001 (I	PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMOPLAS WHITE, SOLIE	12125 STIC, REFURBISHMENT ), 24" FOR STOP LINE C , MAINTENANCE USE		6.00000	15,000.00	14.00000	35,000.00	6.50000	16,250.00
	12131 STIC, REFURBISHMENT 6"	20.000 , GM	1,300.00000	26,000.00	937.00000	18,740.00	1,200.00000	24,000.00
THERMOPLAS WHITE, 2-4 DO	12141 STIC, REFURBISHMENT DTTED GUIDELINE / 6- ION, 6", MAINTENANCE		1,000.00000	10,000.00	788.00000	7,880.00	2,600.00000	26,000.00
	12160 STIC, REFURBISH, WHI	75.000 TE, EA	100.00000	7,500.00	106.00000	7,950.00	140.00000	10,500.00
	12170 STIC, REFURBISH, WHI	100.000 TE, EA	75.00000	7,500.00	74.00000	7,400.00	72.00000	7,200.00
	12201 STIC, REFURBISHMENT .ID, 6"	10.000 , GM	3,400.00000	34,000.00	1,760.00000	17,600.00	2,600.00000	26,000.00
THERMOPLAS	12221 STIC, REFURBISHMENT .ID, 6" MAINTENANCE	40,000.000 , LF	0.40000	16,000.00	0.65000	26,000.00	0.50000	20,000.00



Page 4 of 12

Letting:	042404	405 Apr	il 05, 2024	Cal	ll Order: 005		Contract:	E4X49-R0	
Line No / Item Des		Alternate	Quantity Units	(1) OGL CONSTRUC		(2) DAVID'S A	SPHALT INC.		ISTRUCTION
() indicate	s item is bid as L	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	ECTION: 000	1 (P <i>A</i>	VEMENT S	TRIPING (LARGE	MACHINE) (LM				
0095 071	11 12222		5.000	10.00000	50.00	385.00000	1,925.00	3.00000	15.00
	ASTIC, REFUR OLID, 8" MAINT		LF						
0100 071	1 12224		1,000.000	4.00000	4,000.00	3.41000	3,410.00	4.75000	4,750.00
YELLOW, SO	ASTIC, REFUR OLID, 18" FOR ON, MAINTENA	DIAGONAL	LF						
0105 071	1 12231		1.000	1,600.00000	1,600.00	3,880.00000	3,880.00	950.00000	950.00
THERMOPL/ YELLOW, SH	ASTIC, REFUR KIP, 6"	BISHMENT,	GM						
0110 071	11 12241		1.000	1,000.00000	1,000.00	4,566.00000	4,566.00	2,600.00000	2,600.00
YELLOW 2-4	ASTIC, REFUR 4 DOTTED GUI ISION, 6" MAIN	DELINE/ 6-10							
0115 071	1 14160		30.000	200.00000	6,000.00	145.00000	4,350.00	225.00000	6,750.00
THERMOPL/ WHITE, MES	ASTIC, PREFC SSAGE	ORMED,	EA						
	11 14170		30.000	100.00000	3,000.00	130.00000	3,900.00	165.00000	4,950.00
THERMOPL/ WHITE, ARR	ASTIC, PREFC ROW	ORMED,	EA						
0125 071	11 17 1	÷	35,000.000	1.50000	52,500.00	2.10000	73,500.00	2.50000	87,500.00
THERMOPL	ASTIC, REMO ASTIC PAVEM SURFACE TO	ENT	SF						
0130 071	13103101		1.000	18,000.00000	18,000.00	9,814.59000	9,814.59	40,000.00000	40,000.00
	T TAPE, WHIT RETE BRIDGES		GM						



Page 5 of 12

Letting:	04240405	April 05, 2024	Ca	l Order: 005		Contract:	E4X49-R0	
Line No / Item Des		ite Quantity Units	(1) OGL CONSTRUC		(2) DAVID'S A	SPHALT INC.		ISTRUCTION P, LLC
() indicate	es item is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
PERMANEN	13103131 IT TAPE, WHITE, ED, 6" FOR CONCRET	1.000 GM FE	6,500.00000	6,500.00	9,745.00000	9,745.00	12,000.00000	12,000.00
PERMANEN	13103201 IT TAPE, YELLOW, SC RETE BR <b>I</b> DGES	1.000 LID, 6" GM	18,000.00000	18,000.00	9,954.00000	9,954.00	40,000.00000	40,000.00
	13107 ED/PERMANENT TAPI	500.000 E, SF	8.00000	4,000.00	18,50000	9,250.00	3.85000	1,925.00
REFLECTIV	06 142 E PAVEMENT EMOVE AND CLASS B)	1,000.000 EA	6.00000	6,000.00	11.90000	11,900.00	5.75000	5,750.00
	11 11121 ASTIC, STANDARD, V	50,000.000 /HITE, LF	0.60000	30,000.00	0.80000	40,000.00	0.80000	40,000.00
	11 11141 ASTIC, STANDARD, V	15,000.000 /HITE, LF	0.60000	9,000.00	1.28000	19,200.00	0.80000	12,000.00
	11 11221 ASTIC, STANDARD, OLID, 6"	30,000.000 LF	0.60000	18,000.00	0.54000	16,200.00	0.80000	24,000.00
	11 11241 ASTIC, STANDARD, KIP, 6"	500.000 LF	1.00000	500.00	10.00000	5,000.00	0.80000	400.00



Page 6 of 12

Letting:	04240405	April 05, 2024	Ca	all Order: 005		Contract:	E4X49-R0	
	Line No / Item IDAlternateQuantityItem DescriptionUnits() indicates item is bid as Lump Sum		(1) OGLESBY CONSTRUCTION, INC.		(2) DAVID'S ASPHALT INC.		(3) TRP CONSTRUCTION GROUP, LLC	
() indicates ite			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	FION: 0001	(PAVEMENT S	TRIPING (LARGE	E MACHINE) (LM				
	EMENT STRIPING E MACHINE) (LM)	Section Totals:	\$499,780.00		\$550,804.97		\$638,406.00	

Contract Grand Totals:
------------------------

1

\$499,780.00

\$550,804.97

638,406.00



Page 7 of 12

Letting:	04240	405 Apr	il 05, 2024	Cal	l Order: 005		Contract:	E4X49-R0	
Line No / I Item Desci		Alternate	Quantity Units	(4) AKC/	A, LLC	(5) ACME BAR	RICADES LC		
() indicates	item is bid as L	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 000	)1 (PA	AVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0005 0711	11102		1.000	7,500.00000	7,500.00	10,000.00000	10,000.00		
THERMOPLAS SOLID, 8" FOR URBAN ISLAN	R INTERCH		, GM						
0010 0711	11123		10,000.000	7.00000	70,000.00	10.00000	100,000.00		
THERMOPLAS SOLID, 12" FC ROUNDABOU	OR CROSSW		, LF						
0015 0711	11124		201.000	10.00000	2,010.00	12.00000	2,412.00		
THERMOPLAS SOLID, 18" FC CHEVRONS			, LF						
0020 0711	11125		2,746.000	8.00000	21,968.00	14.00000	38,444.00		
THERMOPLAS SOLID, 24" FC CROSSWALK	OR STOP LIN		, LF						
0025 0711	11160		60.000	175.00000	10,500.00	325.00000	19,500.00		
THERMOPLAS		DARD, WHITE	, EA						
	11170		100.000	150.00000	15,000.00	140.00000	14,000.00		
THERMOPLAS ARROW	STIC, STANE	DARD, WHITE	, EA						
	12101		30.000	3,600.00000	108,000.00	4,800.00000	144,000.00		
THERMOPLAS WHITE, SOLIE		RBISHMENT,	GM						
	12121		65,000.000	0.70000	45,500.00	1.00000	65,000.00		
THERMOPLAS WHITE, SOLIE USE			LF						



Page 8 of 12

Letting:	04240405	April 0	5, 2024	Cal	l Order: 005		Contract:	E4X49-R0	
Line No / Ite Item Descrij			uantity Units	(4) AKCA	A, LLC	(5) ACME BAR			
() indicates ite	em is bid as Lump S	um		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	(PAVE	EMENT S	TRIPING (LARGE	MACHINE) (LM				
	2122 FIC, REFURBISH 8" FOR MAINTEI		5.000 LF	10.00000	50.00	1.50000	7.50		
WHITE, SOLID,	2123 FIC, REFURBISH 12" FOR CROSS DUT- MAINTENAI	MENT, S WALK	500.000 LF	7.00000	17,500.00	6.00000	15,000.00		
WHITE, SOLID,	2124 FIC, REFURBISH 18" FOR DIAGOI INTENANCE USE	MENT, NAL OR	200.000 LF	10.00000	2,000.00	8.00000	1,600.00		
WHITE, SOLID,	2125 TIC, REFURBISH 24" FOR STOP L MAINTENANCE L	MENT, INE OR	500.000 LF	7.00000	17,500.00	10.00000	25,000.00		
0065 0711 1 THERMOPLAS WHITE, SKIP, 6	TIC, REFURBISH	MENT,	20.000 GM	1,200.00000	24,000.00	2,500.00000	50,000.00		
WHITE, 2-4 DO	2141 FIC, REFURBISH TTED GUIDELIN DN, 6", MAINTEN/	NE / 6-10	10.000 GM	300.00000	3,000.00	2,500.00000	25,000.00		
0075 0711 1 THERMOPLAS <sup>-</sup> MESSAGE	2160 FIC, REFURBISH	, WHITE,	75.000 EA	150.00000	11,250.00	250.00000	18,750.00		



Page 9 of 12

Letting: 04240405 Ap	ril 05, 2024	Cal	l Order: 005		Contract:	E4X49-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) AKC/	A, LLC	(5) ACME BAR			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (P	AVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0080 0711 12170 THERMOPLASTIC, REFURBISH, WHIT ARROWS	100.000 E, EA	130.00000	13,000.00	110.00000	11,000.00		
0085 0711 12201 THERMOPLASTIC, REFURBISHMENT, YELLOW, SOLID, 6"	10.000 GM	3,600.00000	36,000.00	4,800.00000	48,000.00		
0090 0711 12221 THERMOPLASTIC, REFURBISHMENT, YELLOW, SOLID, 6" MAINTENANCE USE ONLY	40,000.000 LF	0.40000	16,000.00	1.00000	40,000.00		
0095 0711 12222 THERMOPLASTIC, REFURBISHMENT, YELLOW, SOLID, 8" MAINTENANCE US ONLY	5.000 LF SE	10.00000	50.00	1.50000	7.50		
0100 0711 12224 THERMOPLASTIC, REFURBISHMENT, YELLOW, SOLID, 18" FOR DIAGONAL OR CHEVRON, MAINTENANCE USE ONLY	1,000.000 LF	7.00000	7,000.00	8.00000	8,000.00		
0105 0711 12231 THERMOPLASTIC, REFURBISHMENT, YELLOW, SKIP, 6"	1.000 GM	2,000.00000	2,000.00	2,500.00000	2,500.00		
0110 0711 12241 THERMOPLASTIC, REFURBISHMENT, YELLOW 2-4 DOTTED GUIDELINE/ 6-1 GAP EXTENSION, 6" MAINT USE ONL	0	2,000.00000	2,000.00	2,500.00000	2,500.00		
0115 0711 14160 THERMOPLASTIC, PREFORMED, WHITE, MESSAGE	30.000 EA	250.00000	7,500.00	1,000.00000	30,000.00		



Page 10 of 12

Letting: 04240405	April 05, 2024	Cal	l Order: 005		Contract:	E4X49-R0	
Line No / Item ID Alterna Item Description	te Quantity Units	(4) AKCA	A, LLC	(5) ACME BAR			
( ) indicates item is bid as Lump Sum	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0120 0711 14170 THERMOPLASTIC, PREFORMED, WHITE, ARROW	30.000 EA	125.00000	3,750.00	600.00000	18,000.00		
0125 0711 17 1 THERMOPLASTIC, REMOVE EXIS THERMOPLASTIC PAVEMENT MARKINGS- SURFACE TO REMAI		1.50000	52,500.00	2.50000	87,500.00		
0130 0713103101 PERMANENT TAPE, WHITE, SOLII FOR CONCRETE BRIDGES	1.000 D, 6" GM	25,000.00000	25,000.00	25,000.00000	25,000.00		
0135 0713103131 PERMANENT TAPE, WHITE, SKIP/DOTTED, 6" FOR CONCRET SURFACES	1.000 GM E	9,000.00000	9,000.00	10,000.00000	10,000.00		
0140 0713103201 PERMANENT TAPE, YELLOW, SO FOR CONCRETE BRIDGES	1.000 LID, 6" GM	25,000.00000	25,000.00	25,000.00000	25,000.00		
0145 0713107 PREFORMED/PERMANENT TAPE REMOVE	500.000 ., SF	8.00000	4,000.00	5.00000	2,500.00		
0150 E706 1 42 REFLECTIVE PAVEMENT MARKER(REMOVE AND REPLACE)(CLASS B)	1,000.000 EA	7.00000	7,000.00	7.00000	7,000.00		
0155 E711 11121 THERMOPLASTIC, STANDARD, W SOLID, 6"	50,000.000 /HITE, LF	1.00000	50,000.00	1.50000	75,000.00		



Page 11 of 12

Letting:	04240405	April 05, 2024	Cal	l Order: 005		Contract:	E4X49-R0	
Line No / Item Item Descript		ate Quantity Units	(4) AKC/	A, LLC	(5) ACME BAR	RICADES LC		
() indicates item	is bid as Lump Su	т	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (PAVEMENT STRIPING (LARGE MACHINE) (LM								
0160 E711 11 THERMOPLASTI SKIP, 6"		15,000.000 WHITE, LF	0.90000	13,500.00	1.00000	15,000.00		
0165 E711 11 THERMOPLASTIC YELLOW, SOLID,	C, STANDARD,	30,000.000 LF	1.00000	30,000.00	1.50000	45,000.00		
0170 E711 11 THERMOPLASTI YELLOW, SKIP, 6	C, STANDARD,	500.000 LF	1.00000	500.00	1.00000	500.00		
	/ENT STRIPING MACHINE) (LM)	Section Totals:		\$659,578.00		\$981,221.00		

Contract Grand Totals:

\$659,578.00

\$981,221.00



# Tabulation of Bids Page 12 of 12 Letting: 04240405 April 05, 2024 Call Order: 005 Contract: E4X49-R0 NOTE: Failure to file a protest within the time prescribed in section 120 57(3) Elorida Statutes or failure to post the bond or other security. NOTE: Failure to file a protest within the time prescribed in section

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.